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BREHE - ST FE12A18(B) ~SFxEF12A278 (£) (BAiL - N 9blb/kg)
E3 1 — o o ®EH . BHERESE
== A3y mA EREU (128) 9h134+137 (2794134+137)
(EES YY1 E BB LT AHRET 5H () &R 7.1
I EES HYUNT1E AL EHATETER L 3H(N) A& 6.4
3 |HE YN T1E a8l 3H(CN) A& 6.6
AEES Yh1E WNEER = [ HT 21H (&) A& 10.4
5 |Hx JvHMAE TERAEN 4H (7k) A& 9.5
[ EES JvAHM4E REEEB = [ HT 271H (&) A& 11.7
[ EES A4V TERAEN 4H (7k) &R 9.5
8 [ A %F TERAEN 4H (7k) &R 9.5
9 [Hx =P TERAEN 4H (k) &R 9.3
NEES *F TERAEN 4H (7k) &R 11.8
(NEES INTHA TERAEN 4H (7k) &R 9.6
IPEES INTHA FEmh 3H(X) &R 7.1
(ENEES Y=Y (z1) |BBLLUTAHRET 24H (N) &R 9.4
IMEES Y1 E a8l 23H(8) A& 11.2
(FENMERED A APDPERS 8L AR EHETHE ] | 12H (OK) 48.2 10.4
16 |ILE -0 [F+555 BB LT E AT I A 4H (k) 30.9 11.5
17 IR - ZTDCFE|T7F /LD a8l 16H(8) A& 14.1
18 [RE h+ TERAEN 4H (7k) &R 7.1
19 [EE h+ BB LI A ~HT 118 (7k) &R 8.4
20 [RE HRR BB LT EHATET R L 3H(X) &R 8.6
21 [RE FU41 BB LT AHRET 28 (B) &R 8.5
22 [RE FU41 BB LT AHRET 4H (7k) &R 7.2
23 [RE FU41 Bl 12H (K) A& 7.1
24 [RE FU4 FEmh 3H(X) &R 7.4
25 |R=E RA LU =fEHEETILO[ 13H (&) A& 9.3
26 |R=E I = LU =1EHET AL [ 16H(B) 22.0 10.2
21 [RE =hV BT =S A HHE]T 23H(8) &R 9.5
28 [RE 1X BB LT AHRET 98 (B) &R 11.5
29 [RE 1X LT =S A HHE]T 3H(N) A& 7.7
30 [RE a1X LT EXRTERE| 106 (N) A& 10.4
31 |R=E X ZESIIGE 3H(CN) A& 10.1
Y EES IP2= 5HRE 118 (7k) &R 8.1
33 [EE Yy LIS 18H (7k) &R 9.9
34 [RE 'J = FEmh 3H(X) &R 8.6
35 [Z0fd 52 BT EHATET R AR | 18H (k) &R 9.4
36 [Z0fth 52 LT HAMEITSE | 135 (£) A& 8.9
37 (20t ?%W BB E T ZHE | 12H (K) 118.7 10.1
38 [Z0fth BA BT ZHE | 23H () 138.7 11.0
39 [Z0fd BA BB LU AT ET) 1B 4H (7k) 11.9 5.8
40 |Z oDt BA BB LT AT ET) 1B 4H (7k) 39.0 6.4
41 | ZoDfh BA BT EHAEIRA | 23H(A) A& 8.0
42 | Z DMt BA BLLUHHEFERE | 271H () &R 7.4
43 | Z oDt BA HwARE 12H (&) 63.0 6.0
4h | Z DMt BA BEER 17H (N) &R 10.8
45 |[ZDh BT+ RS = [ HT 26H (K) 12.5 8.6
46 |Z D1t R BB L HA0EHE]T 178 (X) A& 9.0
47 |[ZDb RN LU HAHEET#ER | 4H (K) 14.9 12.3
48 |Z D1t ¥R A= 20H (&) 9.3 8.5
49 |ZoDfth FUEFEYX | BURm=FEHET KA | 16H(B) A& 8.4
50 |Zofh 29 BT EHATET R AR | 18H (k) A& 12.9
51 [ZDfts 5£g G =EEEEE EEEIED) A& 9.0
52 [Z0fb BR LT EEITZHE | 5HK) 35.5 9.7
53 [ZDfth [E] B EHEITZHE | 16H(8) 33.2 9.6
54 |ZFD1h BER 8L E T Z HHEF | 2065 (£) 107.5 12.7
55 [Zfth O 85 Y X [BLm=1EHITAS | 16H(B) A& 7.6
56 [Z0Dfth T BB LT AHRET 6H (&) A& 9.1
57 [Z0fth T BB LT AHRET 98 (B) A& 11.3
58 [Fo1h T BB LT RHRET 25H (7K) 16.3 11.2
59 [Z0fth T BB LI A ~HT 13H(£) &R 9.4
60 [ZFoh b BUTEARIECA| 95H(B) A& 14.7
61 |ZoDfth T EIG=E=] 3H(X) &R 9.3
62 |Z D1t T BB LT EHATET 6H (&) &R 9.7
63 |ZoDfth T ELUm=fEHEETILO| 6H (&) A& 10.1
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RENM | SNTE12818(B) ~SNTE12827H (2) (841 : \°9bh/kg)
I o % REH : REEREAL
== A3y mB PRENHD (128) 94134+137 (2794134+137)

6b |20 g I 108 (30 TR 8.5
6 [Z0ft G il 238(R) TR 9.4
66 RIEER X () [BlneAn 178 (0 TR 6.2
67 RIEER [k (BF) _ [HNIUGE 9E(R) TR 6.4
68 RIEEK __ |L5X (5K _|eh 3H TR 9.0
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